
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Worksheet 2.4:  

Choice & Diversity in Education  

Read the passage below and answer the questions that follow                   

 
For many years now both Conservative and Labour governments have proclaimed their belief in 
market forces as a driver of higher standards in education. This approach aims to treat parents as 
‘consumers’ of education (on behalf of their children) and provides them with information, such as 
tables of exam performance and Ofsted reports, which will enable them to choose a suitable 
school. Those schools which are not performing well enough will find themselves short of pupils 
and will be forced to improve in order to survive. To this idea of choice was added that of 
‘diversity’ in secondary schooling: not only would parents be able to choose schools for their 
children but they would also be able to select from a range of different kinds of school. This 
diversity of types of school has meant that there is now a bewildering range of types of secondary 
school.  

There are serious problems inherent in this model of educational provision. To begin with, it 
assumes that choosing a school is similar to choosing goods in a supermarket: different customers 
have different preferences and the supermarket ensures that all can be met. In reality, choosing a 
school is a fundamentally different process from choosing which tomatoes to buy. Those who buy 
vine tomatoes but then find they are not worth the premium demanded by the store are not 
seriously inconvenienced: they simply make a different choice next time. Making the wrong choice 
of school, on the other hand, is not quite so easily rectified!  

Secondly, the model assumes that parents are in a position to predict (when their child is ten or so) 
what particular type of school will best suit his or her needs and abilities in the years to come. Even 
if this were realistic, which it is plainly not, it would require either that the state knows in advance 
what proportion of children are likely to show early promise in various specialisms or that it over-
provided in all of them. Neither of these is possible in practice, so the idea of choosing a school for 
its ‘specialism’ is nonsense.  

Thirdly, the model assumes that parents actually have access to a range of schools to choose from. 
This could only ever work in urban settings but, in any case, parents are not in practice free to 
make such choices. All they are allowed to do is express preferences and choice ends when a school 
is full. This leads to the establishment of a hierarchy of schools, of which the most popular are able 
to choose their pupils because demand is so high and the least popular are obliged to take those 
whom the other schools reject. This in turn leads to the creation of ‘sink’ schools full of 
demotivated children and staff and doomed to fail.  

 

Adapted from Choice and Diversity: A Misconceived Approach by Michael Pyke, in CASE notes, Issue 21 September 2007, 
Campaign for State Education 

 

Education with Methods in Context 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1. Explain what is meant by ‘market forces’. 

 

2. Suggest two ways, apart from those given in the passage, that schools and colleges have been 

encouraged to compete for students. 

 

3. Apart from tables of exam performance and Ofsted reports, identify two other types of 

information that are available to parents to help them choose a school for their children. 

4. Identify at least three types of secondary school which are now available for parents to choose 

from in the UK. 

 

5. Suggest two reasons why parents can only express a preference for a secondary school and do 

not have a completely free choice. 

 

6. Explain what is meant by a ‘sink’ school and how market forces might create them. 

 

7. Identify three problems with the market model of educational provision identified in the 

passage. 

 

8. Explain the view suggested in the article that, rather than parents selecting the best schools 

for their children, what is really happening is that the best schools are selecting their pupils. 

 

9. Suggest reasons why, in the education marketplace, schools that have more applications than 

places available might prefer to select only the most able children and/or those coming from 

middle-class homes. 

 

10. Suggest three reasons why middle-class parents might be more successful than working-class 

parents as consumers in the education market. 
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Choice & Diversity in Education      

Questions 

Education with Methods in Context 


